




3.4)

3.5)

3.6)

3.7)

3.8)

3.9)

3.10)

3.11)

SQR(X) = X8*0.5

ROOT = -B + SQRT(B*B - 4*A*C)

C(B) = B**2  + FUN

LONE (I, J, K) = I*J’K

L = LONE (1, 2, 3) + I*J*K

HI(@)=A+1+2+3

A(L) = L + AL + SIM

Y = A(K) - AL - SIM
\ I

A D D (  X , Y , Z ) = X + Y + Z
0

T =  ADD( X’Y, T0 )

C(m,  A) = (X +  1)*3  + A

MIX (0) = LOG (K + 1)

S = MIX ( 3.1) + 30

mmJ

3.4) 4

3.5) dlCTYJlhMU~  statement function &IioJ

ullioerdlrrljlJ~~nl3l~  9

3.6) 4

3.9) BiwauAb.hn’in”u

5 Y = 3*X8*2  + 2*X - 1

WRITE (6, 1) Y

6 T = IaX**  + 7*X - TOT

7 S = 3*X**2 + K(2)‘X  - SIN(T)

SUM = S + T

8 IF (17*X8*2 + MINl (A,  B)*X - SQRT(A)) 1 ,  2 ,  3

mpl FN (L, J, A) = L*X*X + J*X - A U~~tU”UPrC1’l~~~~~~~tt~~~~~~t~~

5 Y = FN (3, 2, 1)

WRITE (6, 1) Y

6 T = FN (I, 7, TOT)

7 S = FN (3, K(2), SIN (T))

SUM = S + T

8 IF (FN(17, MINl (A, B), SQRT (A)) 1, 2, 3
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&s;ld-d 5 hhfiilu  Y = 3*T**2  + 2*T  - 1

&Ji09fhHUfl  statement function IWJL?h.b

Y = FN (3, 2, 1, T)

WRITE (6, 1) Y

T = FN (I, 7, TOT, X)

S = FN (3, K (2), SIN (T), X)

SUM = S + T

IF (FN(17, MINl (A, B), SQRT (A), X) 1, 2, 3

5. osuonwa~~~~7nbel~~~n~~~~~~~

5.1) ¶hau’soja

i 2’+ 3 - I*’
IMPLICIT INTEGER (A-Z)

nnaJa5i  1 READ (5, 7) A, B, C

7 FORMAT (212, 13)

DO 10 I = 1,2

Y = (10 - I)*POL (A, B, C, - I)

10 WRITE (6, 14) Y

14 FORMAT (1X, 17)

STOP

END

INTEGER FUNCTION POL (A, B, C, X)

INTEGER A, B, C, X

POL = A*X**2 + B*X + C

RETURN

END

tiWWh-t.l  READ (5, 7) A, B, C

A ~ibil  2 ,  B  sfhil  3  LLI::  C  rrb-i?  -10
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SUBROUTINE SHSORT (D, N)

DIMENSION D(N)

M = N

M = M/2

IF (M .EQ. 0) RETURN

K=N-M

J = M

I = J

L = I + M

IF (D(I) .LE. D(L)) GO TO 12

TEMP = D(l)

WI)  = W-4

D(L) = TEMP

1=1-M

IF (I .GE. 1) GO TO 9

J,= J + 1

IF (J .GT.  K) GO TO 8

GO TO 10

END

C 23451 6 178%-L.
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PROGRAM CALLS SUBROUTINE SHSORT (D, N)

DIMENSION A(20)

READ (5, 10) (A(I), I = 1, 20)

FORMAT (lOF5.2)

WRITE (6, 12) (A(I), I = 1, 20)

FORMAT (1X,  ‘UNSORTED ARRAY:‘/(lOFS.Z))

CALL SHSORT (A, 20)

WRITE (6, 13) (A(I), I = 1, 20)

FORMAT (1X,  ‘SORTED ARRAY:‘I(lOW.O))

STOP

END
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